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What' s It All About?

 Allows for new operations to be defined and used on elements of an
object structure with out changing the contents of those elements.

* The Key is Double Dispatch



Where Applicable

* Rarely Changing Object Structures
* Using Unrelated Operations
* Many Classes with Differing Interfaces



How it Works

* Concrete Object
Structure

* Assume Rarely
Changing

e Bank Accounts

<<Interface>>
Account
+getAccountNumber() : int
+getBalance() : float
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CheckingAccount SavingsAccount
+getAccountNumber() : int +getAccountNumber() : int
+getBalance() : float +getBalance() : float




Add an Inquiry Operation

* Inquiry to Display Accounts

*Don’ t Want to Change
Structure

* Create a Visitor Structure
e Account Visitor

<<Interface>>
AccountVisitor

+visitCheckingAccount()
+visitSavingsAccount()

A

AccountlnquiryVisitor

+visitCheckingAccount()
+visitSavingsAccount()
+displaylnguiry() : String




Account Visitor Interface

public interface AccountV¥isitor |
public vwolid visitCheckingAccount (Checkinglioocount clhocount) ;
public vwolid visitSavingsAccount (Savingsiccount shAccount) !



Inquiry Visitor

import Jawva.text.DecimalFaormat:

public class AccountInguiryWVWisitor implements LAocountVisitor |
priwvate String checkicctcBEal:
private int checklcotlum:
priwvate 3Itring savelcctBal:
private int savelccoctlhuan:
private DecimalFormat monewy;

public AccountIngquiryvWisitor()

checkicctBal = 'f;

checkicocthuwn = 0O;

savelocotBal = 772

savelocotlum = 0O;

money = new DecimalFormwat (TS0.007) ;

H

public woid wvisitCheckingAccount (Checkingliocount chccount)
checkbicotEal = money. format (clocount..getBalance (1) ;2
checkicctlum = cAccount.geticcounthuanoer () F

H

public wvoid wvisitSavingsAhccount [(Savingsiccount sSsAccount)
saveloctBal = monevy.format (shccount..getBalance (1) 2
saveloctlum = shcocount. gethocountiankber () 2

H

public 3tring displayIngquiry ()

String inguiry = "7

inguiry = inguiry + "EBalance Inguiry for All Accounts:hyn'™;
incguiry = inguiry 4+ Thyn':

inguiry = ingquiry + Checking " + checkAcctllum + "iynf:
inguiry = inquiry + Current Balance: " + checkicctBal +
inguiry = inguiry + "yn':

rr \]'I. rr :



Account Structure Change




Account Interface

public interface Account |
public int getAccountHumber () ;
public float getBalance () ;
public woid accept (AocountVisitor wisitor) !



Checking Account

public class Checkingoccount implements Locount
private int accountiunber:
private float currentBalance:

pubhlic Checkinghcocount (int accountumber, f£loat initialimount) |
this.accountiuwber = accountMumber:
currentBalance = initiallmount:

¥

public int getAcocountHumber () |
return this.accountihunder:

¥

public float getBalance (] |
return currentBalance;

¥

public woid accept (AccountWisitor wisitor) |
vizitor.visitCheckinghocount (this) :



Savings Account

public class SarvingsAccount implenents Locount |
priwvate int accountlhuanber:
private float currentBalance;

public SavingsAccount (int accountiumber, float initiallimount) |
this.accountihanber = accountiwnber:;
currentBalance = initiallmount:

¥

public int getAccountHumber() |
return this.accountiumber:

h

public float getBalance (]
return currentBalance;

¥

public woid accept (AccountVisitor wisitor) o
visitor.wvisit3avingshAccount (this) ;



Main Method

public class Main |
rublic static vold main(3tring[] args) |
Checkinghocount myChecking = new Checkinglocount (10253, 1000) ;
Javingslcocount mydavings = new Javingshococount (10334, 20000 ;
AocountIngquiryVisitor inguiry = new AccountlInguiryWisitori() :;
wyChecking.accept (ingquiry) !

mydavings.accept [inguiry) ;

Syatem. cut.println(ingquiry.displayInguiry () ) :



Structure
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